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efJe<eÙe : efJe%eeve kesâ lelJe
Subject : Elements of Science

meceÙe : 3 Iebšs] [hetCeeËkeâ : 75
Time : 3 Hours] [Maximum Marks : 75

veesš : meYeer ØeMveeW keâes nue keâerefpeS~

Note : Attempt all questions.

efveoxMe :

(De) ØeMve ›eâceebkeâ 1 Jemlegefve‰ ØeMve nw~ FmeceW leerve KeC[ nQ — KeC[ (De), KeC[ (ye) SJeb KeC[ (me)~

KeC[ (De) ceW mener efJekeâuhe, KeC[ (ye) ceW efjòeâ mLeeveeW keâer hetefle& SJeb KeC[ (me) ceW mener peesÌ[er Jeeues

ØeMve efoS ieS nQ~ ØelÙeskeâ KeC[ ceW 5 ØeMve nQ~ ØelÙeskeâ ØeMve hej 1 Debkeâ DeeJebefšle nQ~

Instruction :

(A) Question No. 1 is an objective type question. It contains three parts – Part (A),

Part (B) and Part (C). In Part (A) Multiple choice questions, in Part (B) Fill in the

blanks and in Part (C) Make the right pairs are given. Each part has 5 questions

and each question carries 1 mark.
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(KeC[-De)

(Part-A)

ØeMve—1. mener efJekeâuhe Ûegvekeâj efueefKeS : 1×5=5

Choose and write the correct option :

(i) mJeÙeboerhle Jemleg nw :

(De) leejs

(ye) Ûevõcee

(me) cespe

(o) kegâmeea

Self-luminous body is :

(a) Star

(b) Moon

(c) Table

(d) Chair

(ii) ÛegcyekeâerÙe #es$e keâer leer›elee efkeâme yeele hej efveYe&j keâjleer nw :

(De) kegâC[efueÙeeW keâer mebKÙee

(ye) ceeOÙece

(me) efJeÅegle Oeeje keâer leer›elee

(o) Ghejesòeâ meYeer

On what does the intensity of the magnetic field depend ?

(a) Number of coils

(b) Medium

(c) Electric current intensity

(d) All of the above

(2)
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(iii) peye efJeÅegle yeuye kesâ efHeâueecesvš mes efJeÅegle Oeeje ØeJeeefnle nesleer nw, lees efHeâueecesvš ceW mes

efvecveefueefKele keâewve-meer Tpee& efvekeâueleer nw ?

(De) kesâJeue T<cee Tpee&

(ye) kesâJeue jemeeÙeefvekeâ Tpee&

(me) T<cee Deewj ØekeâeMe Tpee&

(o) ØekeâeMe Tpee&

When an electric current is passed through the filament of an electric bulb,

which of the following energy is released through the filament ?

(a) Heat energy only

(b) Chemical energy only

(c) Heat and light energy

(d) Light energy

(iv) OegDeeB GoenjCe nw :

(De) "esme mee@ue

(ye) pesue

(me) Ssjesmee@ue

(o) heeÙeme

Smoke is an example :

(a) Solid sol

(b) Gel

(c) Aerosol

(d) Emulsion

(3)
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(v) lesue mes Jevemheefle Ieer kesâ efvecee&Ce ceW efkeâme GlØesjkeâ keâe GheÙeesie efkeâÙee peelee nw ?

(De) efveefkeâue

(ye) DeceesefveÙee

(me) neF[^espeve

(o) veeFš^espeve

Which catalyst is used in the manufacture of vegetable ghee from oil ?

(a) Nickel

(b) Ammonia

(c) Hydrogen

(d) Nitrogen

(KeC[-ye)

(Part-B)

ØeMve—1. efjòeâ mLeeveeW keâer hetefle& keâerefpeS : 1×5=5

Fill in the blanks :

(i) meceebieer ceeOÙece ceW ØekeâeMe efkeâjCeW ncesMee .............. jsKee ceW ieceve keâjleer nQ~

Light always travels in a _______ line in a homogeneous medium.

(ii) Ûegcyekeâ kesâ Demeceeve OeÇgJeeW ceW .............. neslee nw~

There is _______ between the unlike poles of a magnet.

(iii) neršj keâe Sueercesvš .............. keâe yevee neslee nw~

The heater element is made up of _______.

(iv) keâesefMekeâerÙe MJemeve .............. ceW neslee nw~

Cellular respiration occurs in the _______.

(v) DeceesefveÙece keäueesjeF[ .............. jbie keâe heoeLe& nw~

Ammonium chloride is a _______ coloured substance.



(5)

C-232631-A P.T.O.

(KeC[-me)

(Part-C)

ØeMve—1. mener peesÌ[er yeveeFS : 1×5=5

 mlecYe (keâ) mlecYe (Ke)

(i) Ûegcyekeâ (De) DeheÛeÙeer ef›eâÙee

(ii) DeeceeMeefÙekeâ jme (ye) jeFpeesefyeÙece

(iii) oerIe& hees<ekeâ lelJe (me) Fe3O4

(iv) MJemeve (o) hesefhmeve

(v) N2 efmLejerkeâjCe (F) keâeye&ve

Match the right pairs :

Column ‘A’ Column ‘B’

(i) Magnet (a) Ketabolic

(ii) Gastric juice (b) Rhizobium

(iii) Macro-nutrients (c) Fe3O4

(iv) Respiration (d) Pepsin

(v) N2 fixation (e) Carbon

efveoxMe :

(ye) ØeMve ›eâceebkeâ 2 mes 9 lekeâ Deefle ueIeg GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve hej 2 Debkeâ DeeJebefšle nQ~

Gòej keâer DeefOekeâlece Meyo-meercee 30 Meyo nw~

Instruction :

(B) Question Nos. 2 to 9 are very short answer type questions. Each question

carries 2 marks. Maximum word-limit of answer is 30 words.

ØeMve—2. heejoMeea heoeLe& efkeâmes keânles nQ ? keâesF& oes GoenjCe oerefpeS~ 1+½+½=2

What are transparent material ? Give any two examples.
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ØeMve—3. Skeâ efJeÅegle Ûegcyekeâ ceW efJeÅegle Oeeje keâer efoMee Gušer keâj oer peeS lees keäÙee nesiee ? 2

What will happen if the direction of current in an electromagnet is reversed ?

ØeMve—4. Fueskeäš^es[ efkeâmes keânles nQ ? 2

What is Electrode ?

ØeMve—5. Devegceeheve keâer heefjYee<ee efueefKeS~ 2

Write the definition of titration.

ØeMve—6. Ssukeâesne@ue kesâ oes GheÙeesie efueefKeS~ 1+1=2

Write two uses of alcohol.

ØeMve—7. heewOes ceW veeFš^espeve keâe cenlJe yeleeFS~ (keâesF& oes) 1+1=2

Write the importance of nitrogen in the plants. (Any two)

ØeMve—8. heewOes ceW MJemeve efkeâ ef›eâÙee keâye nesleer nw ? MJemeve ef›eâÙee keâe meceerkeâjCe efueefKeS~ 1+1=2

When does respiration take place in plants ? Write the equation of respiratory

function.

ØeMve—9. peerefJele peerJeeMce efkeâmes keânles nQ ? 2

What are living fossils called ?

efveoxMe :

(me) ØeMve ›eâceebkeâ 10 mes 17 lekeâ Deefle ueIeg GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve hej 3 Debkeâ DeeJebefšle nQ~ Gòej

keâer DeefOekeâlece Meyo-meercee 50 Meyo nw~

Instruction :

(C) Question Nos. 10 to 17 are very short answer type questions. Each question

carries 3 marks. Maximum word-limit of answer is 50 words.

ØeMve—10. ØekeâeMe kesâ ØecegKe iegCe efueefKeS~ (keâesF& leerve) 1+1+1=3

Write the main properties of light. (Any three)



(7)

C-232631-A P.T.O.

ØeMve—11. OeelegDeeW keâe efJeÅegle MeesOeve efkeâme Øekeâej efkeâÙee peelee nw ? 3

How is the electroplating of metals done ?

ØeMve—12. pesue mes Deehe keäÙee mecePeles nQ ? 3

What do you understand by Gel ?

ØeMve—13. N/20 vee@ce&uelee Jeeues HCl efJeueÙeve keâer meebõlee «eece / ueeršj ceW %eele keâerefpeS~ (HCl keâe leguÙeebkeâer

Yeej · 36.5) 3

Calculate the normality of N/20 HCl solution in gram per liter. (Equivalent weight

of HCl = 36.5)

ØeMve—14. Oeveelcekeâ GlØesjkeâ Je $e+Ceelcekeâ GlØesjkeâ ceW Devlej GoenjCe meefnle mhe° keâerefpeS~ 1½+1½=3

Explain the difference between positive catalyst and negative catalyst with an

example.

ØeMve—15. >eewmeeoj keâe jemeeÙeefvekeâ veece Je oes GheÙeesie efueefKeS~ 1+2=3

Write the chemical name and two uses of Nausadar.

ØeMve—16. heewOe-jesheCe nsleg heewOes keâe ÛeÙeve keâjles meceÙe Deehe efkeâve leerve yeeleeW keâe OÙeeve jKeWies ? 1+1+1=3

What three things you should keep in mind while choosing a plant for plantation ?

ØeMve—17. ›etâmeerHesâjer kegâue kesâ efJeefMe° ue#eCe yeleeFS~ (keâesF& leerve) 1+1+1=3

Write the characteristic features of cruciferae family. (Any three)

efveoxMe :

(o) ØeMve ›eâceebkeâ 18 mes 21 lekeâ oerIe& GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve hej 5 Debkeâ DeeJebefšle nQ~ Gòej

keâer DeefOekeâlece Meyo-meercee 150 Meyo nw~

Instruction :

(D) Question Nos. 18 to 21 are long answer type questions. Each question

carries 5 marks. Maximum word-limit of answer is 150 words.



(8)
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ØeMve—18. mejue met#ceoMeea keâe efÛe$e yeveekeâj Gmekeâer keâeÙe&efJeefOe keâes mecePeeFS~ 2+3=5

Draw a picture of a simple microscope and describe its working method.

DeLeJee / OR

‘‘ØekeâeMe Skeâ mejue jsKee ceW ieceve keâjlee nw~’’ meefÛe$e ØeÙeesie Éeje efmeæ keâerefpeS~

"Light always travel in a straight path." Explain with the help of diagram.

ØeMve—19. Yet-heefj<keâjCe Ùev$e keäÙee nw ? efkeâvneR Ûeej Yet-heefj<keâjCe Ùev$eeW keâe meefÛe$e JeCe&ve keâerefpeS~ 1+1+1+1+1=5

What are Tillage Implements ? Describe any four tillage implement machines

with a diagram.

DeLeJee / OR

keâšeF& mebyebOeer Ùev$e keäÙee nw ? efkeâvneR Ûeej keâšeF& mebyebOeer Ùev$eeW keâe meefÛe$e JeCe&ve keâerefpeS~

What are Pruning Implements ? Describe any four pruning implement machines

with a diagram.

ØeMve—20. ØekeâeMe-mebMues<eCe keâer heefjYee<ee efueKekeâj, ØekeâeMe-mebMues<eCe kesâ keâesF& leerve cenlJe keâe JeCe&ve

keâerefpeS~ 2+1+1+1=5

Write the definition of photosynthesis. Describe any three importance of

photosynthesis.

DeLeJee / OR

Jee<heeslmepe&ve keâer heefjYee<ee efueKekeâj, Jee<heeslmepe&ve keâer ef›eâÙee keâes ØeYeeefJele keâjves Jeeues keâesF& leerve

keâejkeâeW keâe JeCe&ve keâerefpeS~

Write the definition of transpiration and describe the three factors affecting

transpiration.

ØeMve—21. peerJeeCegDeeW keâe DeeefLe&keâ cenlJe efueefKeS~ (keâesF& heeBÛe) 1+1+1+1+1=5

Write the economic importance of bacteria. (Any five)

DeLeJee / OR

peerJeeCeg keâesefMekeâe keâer jÛevee yeveekeâj efkeâvneR heeBÛe efyevogDeeW keâes mecePeeFS~

Explain any five points by drawing the structure of a bacterial cell.

——


